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About the ArcGIS Spatial Analyst Tutorial

Using the Spatial Analyst tools available with ESRI ArcGIS, you can perform spatial analysis on your data. You
can provide answers to simple spatial questions such as How steep is it at this location? and What direction is
this location facing? You can also find answers to more complex spatial questions such as Where is the best
location for a new facility? and What is the least costly path from A to B? The comprehensive set of Spatial
Analyst tools within ArcGIS allows you to explore and analyze your spatial data and enables you to find
solutions to your spatial problems. You can run tools from the Spatial Analyst toolbox or the Python Window,
accessible via any ArcGIS Desktop application. You can also create your own custom tools (models or scripts)
to run a sequence of tools at one time.

A quick tour of Spatial Analyst

The town of Stowe, Vermont, USA, has experienced a substantial increase in population. Demographic data
suggests this increase has occurred because of families with children moving to the region, taking
advantage of the many recreational facilities located nearby. It has been decided that a new school must be
built to take the strain off the existing schools, and as a town planner, you have been assigned the task of
finding the potential site.

This tutorial will show you how to use many of the available tools and will give you a solid basis from which
you can start to think about how to solve your own specific spatial problems.

It is assumed that you have installed ArcGIS Desktop (ArcView, ArcEditor, or Arcinfo) and the ArcGIS
Spatial Analyst extension before you begin this tutorial. If you need more information about extensions, see
Using Extensions in ArcGIS.

The data required is included on the ArcGIS Desktop CD. After running the ArcGIS setup, on the Additional
Installation Components dialog box, check to install the ArcGIS Tutorial Data. On the ArcGIS Tutorial
Data Setup wizard, check to install the Spatial Analyst data (the default installation path is
C:\arcgis\ArcTutor\SpatialAnalyst). The datasets were provided courtesy of the state of Vermont for use in
this tutorial. The tutorial scenario is fictitious, and the original data has been adapted for the tutorial.

Dataset Description

Elevation Raster dataset representing the elevation of the area

Landuse Raster dataset representing the land-use types over the area

Roads Feature class representing the linear road network for the town of Stowe
Rec_sites Feature class representing point locations of recreation sites

Schools Feature class representing point locations of existing schools

Destination | Feature class representing the destination point used when finding the best route for a new road
This tutorial is divided into exercises and is designed to allow you to explore the Spatial Analyst functionality
in ArcGIS at your own pace.

* In Exercise 1, you'll prepare for analysis. You'll copy the tutorial data locally and create a
geodatabase to hold your results.

* In Exercise 2, you'll learn the location of the Spatial Analyst tools, create a hillshade output, and
explore your data.
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* In Exercise 3, you'll create a suitability map to help you find the best location for a new school. You'll
derive datasets of distance and slope, reclassify datasets to a common scale, then weight those that
are more important to consider and combine them to find the most suitable locations. You'll then
locate the optimal site using the selection tools within ArcMap.

» In Exercise 4, you'll find the least costly route for an alternate access road to the new school site.

You will need approximately 90 minutes of focused time to complete the tutorial. Alternatively, you can
perform the exercises in sequence one at a time, saving your results along the way when recommended.
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Exercise 1: Preparing for analysis

In this exercise, you will prepare for analysis by first copying the tutorial data Complexity:
e
locally, then creating a geodatabase for your results. conner

Data Requirement:
ArcGIS Tutorial Data Setup

Before working with Spatial Analyst tools, you will organize your tutorial data.

Steps:

1. Navigate to the location in your file browser where you installed the tutorial data, for
example, if you installed ArcGIS on your C:\ drive, go to C:\arcgis\ArcTutor.

2. Right-click the Spatial Analyst folder and select Copy.
3. Browse to your working directory, for example, your C:\ drive.

4. Right-click C:\ (or an alternative drive) and select Paste.
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Starting ArcMap

Steps:

1. Start ArcMap by either double-clicking a shortcut installed on your desktop or clicking Start

> All Programs > ArcGIS > ArcMap.
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2. Click New Maps in the ArcMap - Getting Started window if it is not already highlighted.

3. Click the Open button .
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4. Click the Connect to folder button in the Select the map's geodatabase window.

5. Browse to and click the working copy of the Spatial Analyst folder just created.

6. Click OK.
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7. Click the New File Geodatabase button .

8. Name the new file geodatabase Scratch.

9. Click Add.
Select the map's geodatabase ||
Laak in: .iﬂ C:\Spatial Anayst : 1 Q 2 ﬁ" B & ip &

Name: Scratch.gdb -—o
Show of bype: | candatabases ﬂ Cancel
10. Click OK.

Setting your workspace

Both your current and scratch workspaces are set to your Scratch.gdb geodatabase. For this workflow,
access data from the Stowe.gdb, which is in the Spatial Analyst folder and contains your data; write your
data, by default, to your Scratch.gdb.

Steps:
1. Click the menu Geoprocessing > Environments .
2. Click Workspace to expand the environment settings related to workspaces.

3. For Current Workspace, navigate to your Stowe.gdb in your Spatial Analyst folder.
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* Workspace
Current Workspace

CiiSpatial Analyst|Stowe. adb @'—e
Serakch Workspace:

Ci\Spatial Analyst|Soratch.gdb @ v

~

[« ” Cancel ][ShmHeb>>]

4. Click Add.

5. Click OK.
Your scratch workspace is already set to your Scratch.gdb geodatabase.

Adding data to your ArcMap session
Steps:
1. Click Stowe.gdb in the ArcCatalog tree window.

2. Select all the datasets while holding the SHIFT key, then release the SHIFT key and drag and
drop the data into the ArcMap table of contents.

= (23 Folder Connections
= & C\Spatid Analyst
+ L3 Scratch
= (0 Stowe Sm—
|4 destination
* 0 eevation
# [l landuse
2] rec_sites
|£] roads
|_] schools
+ i Tooboxes
< | >

Marme

3. Right-click Layers and select Turn All Layers On.
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You should see the four feature classes and two rasters in the table of contents.
Saving your map document

Steps:
1. On the Standard toolbar, click the Save button [g.

2. Browse to the working copy of the Spatial Analyst folder.
3. ForFile name, enter Site Analysis.mxd.

4. Click Save.
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Summary
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You have prepared a workspace in which the datasets created by following the tutorial workflow will be
created. You can now proceed to Exercise 2.

Copyright © 1995-2010 Esri. All rights reserved.
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Exercise 2: Accessing Spatial Analyst and Data

Exploration

You will learn how to turn on the Spatial Analyst extension, access the
Spatial Analyst toolbar, and search for geoprocessing tools. You will create a
hillshade output to display transparently with your other layers, make a
histogram of your land-use layer, and select elements on your map. This
exercise will take approximately 15 minutes to complete.

Steps:

Data Requirement:
ArcGIS Tutorial Data Setup

The Spatial Analyst toolbar contains a Create Contour tool 7z and a Histogram button i, .

Steps:

1.

Click the Customize > Extensions menu.

Customize | Windows  Help

Toolbars "

R _e
Add-In Mansger...
WBA Macros 3

Customize Mode...
Style Manager...
ArcMap Cptions...

2. Check the Spatial Analyst check box.
3. Click Close.

Extensions

Select the axtensions you wanl 1o e

[0 30 Anakst

[ AmScan

[1ata Interopersbiily
Geostatntical Analys
M aphke

Netwioik Anabst

] Publisher

O Schematics
[ Spatial Analyst _e
O Tracking Analyst

0
O
O
0

Descaphion:

Spatial Analyst 9.4
Copgight ©1993-2009 ESRI Inc. &ll Rights Resarsed

Provides spabal analyziz boals for uze with raster and lealuie data.

Ahout Extenzsions o l Close

8]
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1. Click Customize > Toolbars > Spatial Analyst on the main menu.

Layer: ’:"':' alevation | i il

The Spatial Analyst toolbar is added to your ArcMap session.

A hillshade is a shaded relief raster created by using an elevation raster and setting an illumination source
(typically the sun) at a user-specified azimuth (the angular direction of the illumination source, in positive
degrees from 0 to 360) and altitude (the angle of the illumination source above the horizon). The visual
effect of a hillshade can be dramatic when it is displayed under other layers with transparency set in your
ArcMap display. You'll run the Hillshade tool so you can view and explore the output from this tool with the
rest of your input data later in this exercise.

Steps:

1. Open the Hillshade tool.

= Note: These substeps show how to use the Search window to locate
the Hillshade tool.

a.
b.

C.

Saarch
= & o

Click Search .

Click Tools.

Type Hillshade.

Click the Search button , or click enter.

Click the Hillshade (Spatial Analyst) tool from the Spatial
Analyst toolbox not the 3D Analyst toolbox.

al Maps

gl m—e
 Lokal Search M

[ ]
Tasls

e—. |h|| shade

Search returned 2 items. Help

#, Hillshade (3D £nalyst)
Creates a shaded relief from a surface ra...
stern toolboxes\3d analyst to.

e— #., Hillshade (Spatial Analyst)

Creates a shaded relief from a surfaca ra...
toolboxestsy

toolboxeshsy

stern toolboxes\spatial analy..,

Q .__o

2. Select elevation from the drop-down list for the Input raster.

3. Leave the default for the Output raster, Azimuth, and Altitude parameters.

4. Accept the default and leave Model shadows unchecked, so the local illumination of the
surface will be calculated whether or not a cell falls in the shadow of another cell.

5. Type a value of 0.3048 for the Z factor.

Copyright © 1995-2010 Esri. All rights reserved.
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The x,y units in this elevation data are in meters, and the z-values (the elevation values) are in
feet. Since there are 0.3048 meters in one foot, multiplying the z-values by a factor of 0.3048
will convert them to meters.

“_Hillshads (=1 |
Input raster
|elc\-ati:r ;I f—_': '——e
Cutput raster
CiASpatial Analyst\Scratch.gdbliHilSha_slevi ﬂ. (et

Azimuth {optional)

315 — —e
Alitude {optional)

45 -—

[ Moded shadoms [oplicnal] se—

Z Factor (aptional)
0. 3048 |

o | [ Cancel [Envirunrrlents-.. [ Show Help >>

ol Dive-in: If your x-, y-, and z-values are all in the same unit of measure (for
example, if they are all in meters), you can accept the default Z
factor of 1, so the z-units are not converted. Setting an
appropriate z-factor is critical for good results if your input surface
is stored in a geographic coordinate system (for example, the x,y
units are a spherical measurement, such as decimal degrees or
decimal seconds). The z-factor can also be used for exaggeration
of the terrain.

6. Click OK to run the tool.

You will now explore the display capabilities of ArcMap by changing the symbology of one of the layers and
applying transparency so you can see the hillshade output you have created underneath your other layers in
the display.
Steps:
1. In the table of contents, click and drag the hillshade result below the landuse layer.
2. Uncheck the elevation layer in the table of contents.

3. Right-click landuse in the table of contents and click Properties.
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4. Click the Symbology tab.
All land-use categories are currently drawn in random colors with the Unique Values renderer,
based on the Value Field. You will change the Value Field setting to be more meaningful and
change the symbology to show a more appropriate color for each land-use type on the map.

5. Click the Value Field drop-down arrow and click LANDUSE. This is a string field in the landuse
attribute table that describes each land-use type.

6. Double-click each symbol and choose a suitable color to represent each land-use type (for
example, agriculture is orange; built up areas, red; forest, green; water, blue; and wetlands,

purple).
7. Click Apply.
Layer Properties [ﬂﬁ
General | Souce | Extent | Display  Symbology | Fields | Jons SiRelstes = Time
Shovei
I.I'UI:.BVHH Draw raster assigning a color to epch value
Classfied
Shretched Value Field Color Scheme ke
Discrete Color L 1 larl
LANDUSE v ﬂ
Symbol | <WALUE> Label Count  #
<Heading> LANDUSE
o Agriculture Agricukbure 85054
Barren land Barren land e}
Erushjtransitional Brushytranstional 294
i Built up 3603
et Forest b
| e Water 62167
r 1 ' Wetlands Wietlands 12241
w
‘ ‘* ﬂ |_ #dd All vaues ] [ Add Valoes. .. ” Remove JI_ Defauk Colors |
- Dt et (D (g
@ -
[ ok J[ coca [ ey |

The changes you make are reflected in the table of contents and in the map display.
8. Click the Display tab.
9. Change the Transparency from 0% to 30%.
10. Click OK.
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o

Layer Properties =]
Gerersl | Souce | Extent| Display | Syenbology | Fields | Jons & Relstes | Time

[C15how Map Tips {uses primary display field)
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] abow inkeractive display for Effects toobar
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Brightngss: 0 % Constant slevation;
Transparency: 20| | % peM  [§hillshd x| [
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Display Qualty 7 Farctor

Coarse Medium Mot

The hillshade layer can now be seen underneath the landuse layer, giving a vivid impression
of the terrain.

Land use and hillshade map

Select features on the map

Examining the attribute table gives you an idea of the number of cells of each attribute in the dataset.

Steps:
1. Right-click the landuse layer in the table of contents and click Open Attribute Table.

The COUNT field identifies the number of cells in the dataset of each value. Notice that Forest
(value of 6) has the largest count, followed by Agriculture (value of 5), then Water (value of 2).
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2. Click the row representing Wetlands (value of 7).
This selected set, all areas where the land-use type is Wetlands, is highlighted on the map.

3. Click the Unselect all the currently selected records button in the menu of the Table
window.

4. Click the attribute table for landuse layer and the Table window.

Table X
ERAR R AN R
landuse x
Rowid | VALUE | COUNT | LAHDUSE |
0 1 294 Brushiransiicoal
62187 Water

28 |Barren land
35034 |Buit up
B5054 | Agriculiure

671722 Forest
12241 Wetlands

ot s W R =
~ @ th & LWk

[T 1 e 1 |[B1E

landuse

Identifying features on the map

Steps:

1. Click the Identify tool on the Tools toolbar and click any location on your map.

AEI - THEHE S AR AL EEEIhaY Wi e

2. Click the Identify from drop-down arrow on the Identify dialog box and click <All layers>.

3. Click a rec_site point to identify the features in this particular location.

|_. Note: Your display will not be zoomed in this much; this is only to show
the location of the recreation site to click.

4. Close the Identify window.

Copyright © 1995-2010 Esri. All rights reserved.
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Tdentify

Iderefy from: | <allapers>
I= rac_skes

Smasgghars Motch Stake Park
= landuse

Forest

Examining a histogram
Steps:

1. On the Spatial Analyst toolbar, click the Layer drop-down arrow and click landuse.

2. Click the Histogram button | .

Spatial Analyst

Ly Jan—@

The histogram displays the number of cells of each type of land use.

3. Close the Histogram of landuse window.

m

Histogram of landuse: Field = LANDUSE

(o] F (RRRRRRRRRRERRRRRSRRR  —— B Agricubire
. Berren lend
Bruzhiranztonal
600, 1 —
- &
Forest
£50)000 4 . e
Wetlands
SO0 - e L
AE0 ] oo meme e e R e e

Saving the map document

As the last step in this exercise, you'll save the changes to your map document. You'll use this map
document in the next exercise.

Copyright © 1995-2010 Esri. All rights reserved.
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Steps:
1. On the Standard toolbar, click the Save button .

Standard X

ua?em 2 [0 o b |[1:117.704 PT=T-1=T =

Summary

In this exercise, you explored the tutorial data and learned how to access and run Spatial Analyst tools. In the
next exercise, you will build a model by adding tools from the Spatial Analyst Tools toolbox to ModelBuilder to
run a sequence of tools that will locate the areas that are suitable for building a new school.

You can proceed to exercise 3 or stop and complete the tutorial at a later time. If you do not proceed to
exercise 3 now, do not delete your working copy of the tutorial data.

Copyright © 1995-2010 Esri. All rights reserved.
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Exercise 3: Finding a site for a new school

In this exercise, you will build a suitability model that finds suitable locations Complexity:

. - . Beginner
for a new school. The steps to produce such a suitability model are outlined Data Requirement:
below. ArcGIS Tutorial Data Setup

Your input datasets in this exercise are landuse, elevation, rec_sites, and

schools. You will derive slope, distance to recreation sites, and distance to existing schools, then reclassify
these derived datasets to a common scale from 1 to 10. You'll weight them and the landuse dataset according
to a percentage of influence and combine them to produce a map displaying suitable locations for the new
school. You'll then select the optimal site for the new school from the alternatives.

This exercise will take approximately 45 minutes to complete. Start this exercise with your Site Analysis map
document, created in exercise 1, open.

You'll first create a new toolbox to hold the models you will create in this exercise and the next exercise.

Steps:

1. Create a new toolbox in your Spatial Analyst folder. Name the toolbox Site Analysis

Tools.

§ Tip: For more information on creating a toolbox, go to Creating a
custom toolbox.

You will create a model to perform Spatial Analyst tasks. A model is built by stringing tools together in
ModelBuilder. Once your model is created, you can easily experiment with parameter values, use different
input data, run the model over and over again, and share it with others. To find out more about
ModelBuilder, go to What is ModelBuilder.

In this exercise, you will create a model to find a suitable location for a new school.

Steps:
1. Right-click the Site Analysis Tools toolbox and click New > Model.

= [ Folder Cormections
= ] C:\Spatial Bnabyst
= L4 Scratch
# 3 Stowe
@ site Analysis
P
* [l Toolboxes =l <ory
# [[{ Datasbase 5
# O Database 00 | Delets

# [l GIs servers
L : Rename

w | Refresh

B Toolset Mew ’
o_.}u Model,. | | add v

iad7|| Publsh To ArcGIS Server..
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An empty ModelBuilder session will open.

Renaming the model

Steps:

1. On the model's main menu, click Model > Model Properties.

[Model | Ede Insert  view
B Run
Run Entire Mods|
| validate Endre Model
& save
Deeliete Inkarmediate Data
Prink Setup. .
Prink Preview, ..

S Prink...

Repart,.
[ Wodel Properties. . '_'e

MWA i

2. Click the General tab.

3. Type FindSchool in the Name text box and Find location for school inthe Label
text box.
The name is used in scripting and at the Python Window. The label is the display name for
the model.

4. Check the Store relative path names (instead of absolute paths) check box.

‘ModeIP'rnperties [i]ﬁ
e General [P, Ensi Help | leration
Mame:
= | FindSchool
e | Labed:
p= | Find bocation For school
Desoription:
Styleshest:
[ ok | [ ceeel |[ fpoh |

Checking this box sets all source paths referenced by the tool as relative to the location of
the toolbox.

Copyright © 1995-2010 Esri. All rights reserved. 20
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Before you start to perform analysis on your data, you should set any relevant environment settings. For
more information on how to set environments and the hierarchy between analysis environments, go to
The analysis environment of Spatial Analyst.

Because your environment settings apply to each process of this model only, you'll set environment
settings for the model.
Steps:
1. Click the Environments tab.
2. Expand Processing Extent and check Extent.

3. Expand Raster Analysis and check Cell Size.

i Tip: The Current Workspace and the Scratch Workspace are
already set, as these environment settings are inherited from
the map document.

4. Click Values.

'MudeIPlopenies [———— Iﬂi'“.’ﬂ

)
Gensral | Parametess | Envionments  Help | Ibeeation

Select the ervironment settings that pou would lke to overide.

| Geodstsbase -
| Geodatzbase Advanced
| Geostatistical Analysic
o [ M Yaues
# ] Dutput Cooidinates
5[ Processing Extent
w| Extent .J_e
] Shap Raster
% [_] Aandom Humbers
5[ Rasler Analsis
v gasE —1 e
] Matk

| Rastar Storage:
| Teran Datazset »

Q=

[ ok || coce |[ seph |

5. Expand Processing Extent. Set the Extent by clicking the drop-down arrow and selecting
Same as Layer elevation.

6. Expand Raster Analysis. Set the Cell Size by clicking the drop-down arrow and selecting
Same as Layer elevation.
The cell size of your elevation layer will be applied to all subsequent raster outputs. Your
elevation dataset has the largest cell size (30 meters).

/i, Caution: Setting a smaller cell size than your largest input will not mean you
have more detailed information in subsequent raster results; you
will just have more cells of the same value, which may affect your
display and calculation speeds. Although the software does not
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7. Click OK on the Environment Settings window.

&3 Environment Settings
-~
£ Processing Extent
[Exhent
Same as layer elevation le =]
Top _e
231352.353397
Left Right
471060062572 434700.082572
Bottom

208312.353397

# Raster Analysis
Cell Size

Same as layer elevation ;V]IE__Q

[ =3 ] [ Cancel| [ Show Help ==

8. Click OK on the Model Properties window.
9. On the toolbar, click the Save button [g.

W Tip: The model's properties are updated. If at any point you want to
close the model and carry on later, right-click the model in the
ArcToolbox window and click Edit to continue with the tutorial.

You are ready to start to process your project data to locate suitable areas for the new school. You'll derive
the following from your project data:
+ Derive Slope from the elevation dataset.

» Derive Distance from recreation sites from the rec_sites dataset.
» Derive Distance from existing schools from the schools dataset.

This first section of your model will look like the following:
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4 Find location for school

=0

Model Edt  Insert  Yiew ‘Windows Help

FEEIRNER-R AN

|| B2 SR

PRI A

£l

Dutput
direction
raster [2]
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From your table of contents, drag the layers elevation, rec_sites, and schools onto your
model.

Click and drag the Slope tool from the Spatial Analyst Surface toolset onto your model and
place it in line with your elevation data.
An element that references the Slope tool is created on the display window.

Locate the Euclidean Distance tool in the Spatial Analyst Tools toolbox Distance toolset. Click
and drag the Euclidean Distance tool onto your model and place it in line with rec_sites.

Repeat the previous step, but this time place the Euclidean Distance tool in line with schools.
Notice that each time the same tool is added to a model, the name of the tool element is
appended with a number. The second time Euclidean Distance was added to your model, the
label consisted of the tool name followed by (2). You can change these labels if you desire, but
this is unnecessary for this example.
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5. Click the Add Connection tool .

6. Use the Add Connection tool to connect to the elevation dataset to the Slope tool. To do this,
click elevation, then click the Slope tool.

7. Repeat the previous step, this time connecting rec_sites to the Euclidean Distance tool and
schools to the Euclidean Distance (2) tool.

|- Note: The process (consisting of the input data, tool, and output data
elements ) is now filled with a solid color, meaning it is ready to
run. If you were to run the model now, it would run using the
default parameters for each tool.

8. On the model toolbar, click the Select tool , because you no longer need the Add Connection
tool.

9. Click the Auto Layout button , then click the Full View button to apply the current diagram
properties to the elements and place them within the display window.

10. On the toolbar, click the Save button &.

¢ _i.; ?r@
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Deriving Slope from elevation

Since the area is mountainous, you need to find areas of relatively flat land on which to build, so you will
take into consideration the slope of the land.

Steps:
1. Right-click the Slope tool and click Open, or double-click the Slope tool.

2. Leave the Input raster and the Output measurement as the default values.

3. Accept the default location for the value of the Output raster parameter, but type
slope_ out for the name.
A meaningful output name, slope out, has been provided to help locate this data later in
exercise 3.

4. Forthe Z factor, type 0.3048 to convert the z-values to the same unit of measure as the
X,y units (from feet to meters).

5. Click OK.

“. Slope

Input raster
=8 | elevation
Cubput raster
C:\5patial AnalystiSeratch.gdbl Sope_out
Cubput measurement (optional)
=*| DEGREE

a Z Factor (nptonal)

n
< [ [
&

=% 0.3048

[ ok J[ ceneel J[  ogly | [showriewz> |

6. Right-click the output variable from the Slope tool and click Rename.

7. Type Slope output and click OK.

) ‘ . | | Rename E

Made! Farameter Entes new element name.
Managed Shope Dutpu|
Add To Displary I
P -
Create Label
Wiew Messagas...

) cut '

B copy

X Delete

Copyright © 1995-2010 Esri. All rights reserved.
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/Iy Caution: Renaming an element label does not alter the name of the
output on disk. A layer will be added to the Table of Contents
called Slope Output which references data on disk called
Slope_out.

To find locations close to recreation sites, you must first calculate the Euclidean (straight-line) distance
from recreation sites.
Steps:

1. Hover over the Euclidean Distance tool connected to rec_sites. You can easily see all the
default parameters set for this tool. There is no need to adjust any of these parameters.

Input rasher or feabure source data:
rec_sites

Outpist dstance rasber:
Oukput distance raster

Mairnum distance

Outpist cedl size:
an

Cuitput: direction raster;
COutput dirackion rastar

Euclidea
Digtance
"-\-._Vr'-'_'_ __H_‘\-\

You accepted the default for the Maximum distance, thus leaving this parameter empty.
Therefore, the edge of the output raster is used as the maximum distance. The Output cell
size is taken from the environment setting previously set to that of your elevation data. In
this exercise, the Output direction raster is not required.

-

2. Rename the output variable from the Euclidean Distance tool to Distance to

recreation sites.

To find locations away from existing schools, you must first calculate the Euclidean (straight-line) distance
from schools.
Steps:

1. Hover over the Euclidean Distance (2) tool connected to schools. You can easily see all the
default parameters set for this tool. There is no need to adjust any of these parameters.

2. Rename the output variable from the Euclidean Distance (2) tool to Distance to
schools.

Copyright © 1995-2010 Esri. All rights reserved.
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Steps:

1. Right-click each of the output variables (Slope output, Distance to recreation sites, and
Distance to schools) and click Add To Display.

Slope
@
. Open,..

Model Parameater

Managed

Add To Display o

With the Add To Display property on, the data referenced by the variable will be added to
the display each time the model is run.

2. Click the Run button on the model toolbar to execute the three tools— Slope, Euclidean
Distance, and Euclidean Distance (2) —in your model.
Notice that as the tool runs, its progress is documented on the progress dialog box, and the
tool that references the tool is highlighted in red. When the tools have finished running, the
tool and its output become shaded, indicating that the output has been created on disk.

3. If the progress dialog box is present, check the Close this dialog when completed
successfully check box , then click Close.

Run Cloze
o ]

| [ <<Detais

[+] Close thiz dislog when completed succezsiully

Executing (Slope): Slope sl

elevation C:\S8patial Analyst

“Horatch. gdb\ 8lope out DEGREE

0.3048

gucceaded at Tue Dec 29

13:05:12 2009 (Elapssd Time: M

4. Examine the layers added to your ArcMap display.

On the Slope Output layer, steep slopes are displayed in red and less steep slopes in green in the
output layer. On the Distance to recreation sites layer, distances increase the farther you are from a
recreation site. On the Distance to schools layer, distances increase the farther you are from a school.

Copyright © 1995-2010 Esri. All rights reserved.
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Slope output map Distance from recreation sites map Distance from schools map

Reclassifying datasets

Deriving datasets, such as slope, is the first step when building a suitability model. Each cell in your study
area now has a value for each input criteria (slope, land use, distance to recreation sites, and distance to
schools). You need to combine the derived datasets so you can create your suitability map that will identify
the potential locations for the new school. However, it is not possible to combine them in their present
form—for example, combining a cell value in which slope equals 15 degrees with a cell value for land use
that equals 7 (forest)}—and get a meaningful answer that you can compare to other locations. To combine
the datasets, they first need to be set to a common measurement scale, such as 1 to 10. That common
measurement scale is what determines how suitable a particular location—each cell—is for building a new
school. Higher values indicate more suitable locations for the school.

Using the Weighted Overlay tool, you can weight the values of each dataset, then combine them. However,
the inputs for the Weighted Overlay tool must contain discrete, integer values. Landuse data is already
categorized into discrete values; for example, forest equals a value of 7, so you can simply add this dataset
directly into the Weighted Overlay tool and assign each cell a new value on the common measurement
scale of 1 to 10 (you'll do this later in the tutorial). The values in the datasets you derived in previous steps
are all floating-point, continuous datasets, categorized into ranges, and they must first be reclassified so that
each range of values is assigned one discrete integer value. Potentially, the value given to each range can
be any number, provided you note the range that the value corresponds to. This is because you can weight
these values within the Weighted Overlay tool—the next step after reclassifying the derived datasets.
However, it is easier to weight the cell values for derived datasets while reclassifying. In the Weighted
Overlay tool, you can accept the default and leave the scale values the same as the input values.

You will reclassify each derived dataset to a common measurement scale, giving each range a discrete
integer value between 1 and 10. Higher values will be given to attributes within each dataset that are more
suitable for locating the school.

This section of your model will look like the following:

Copyright © 1995-2010 Esri. All rights reserved. 28
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Steps:

Locate the Reclassify tool in the Spatial Analyst Tools toolbox Reclass toolset. Click and drag
the Reclassify tool onto ModelBuilder in line with Slope Output. Add another Reclassify tool in
line with Distance to recreation sites and another in line with Distance to schools.

Click the Add Connection tool . Use the connect tool to connect:
a. Slope Output to the Reclassify tool

b. Distance to recreation sites to the Reclassify (2) tool
c. Distance to schools to the Reclassify(3) tool
On the model toolbar, click the Select tool .

Click the Auto Layout button , then click the Full View button .

Copyright © 1995-2010 Esri. All rights reserved.
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Reclassifying slope

It is preferable that the new school site be located on relatively flat ground. You'll reclassify the slope
output, slicing the values into equal intervals. You'll assign a value of 10 to the most suitable range of
slopes (those with the lowest angle of slope) and 1 to the least suitable range of slopes (those with the
steepest angle of slope) and rank the values in between linearly.

Steps:
1. Open the Reclassify tool connected to the Slope Output variable.
2. Accept the default for the Reclass field parameter so the value field will be used.

3. Click Classify.

“ Reclassify

Input raster

| Flope Output =
Reclass field
= Yalue v
0_ Redassiication
Old values New values -~
0- 3933054 1 El
M g |l

4. Click the Method drop-down arrow and click Equal Interval.

5. Click the Classes drop-down arrow and click 10.

6. Click OK.
Classification E]ﬁ
Classfication 1 Classification Statistics
Methesd: Equal Interval bl Counk: 604761
Finimum; i}
Ee il ° 2 Masdmum: 47385618
Ty Sum 6335381 ,865383
Mean; 10.475644
[ Exduson... | [ samgiing... | Standard Devistion: 6,967564
Colimns: 0 5 [ show Std, Dev, [C] Show Mean
= @ = & = 2 n = ® Break Yales
25000 % = 2 = Fe o =] = Z o
| g & 8 4.738552
Bl & A & & & 2 Z pagiet
- @ I o= g8 & b & 0% ;
14, 215656
20000 18.954207
23892759
8431311
15000 33,169663
37508415
42 BABIET
100004 47385518
A0004
<] 3
1] 11.84628 23692759 35539134 47.385518 “

7. Click Reverse New Values.
Reversing the values applies higher new values to the values representing less steep slope,
since these areas are more suitable for building.

8. Accept the default for the Output raster parameter.
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9. Click OK.

Ignﬂ.’lutly

Input raster

[ Blope Cutput
Redlass field

valug

Redassfication

0. 4738552

4 738552 - 94TTM04

9477104 - 14.21 5656
14 215656 - 16 954207
18354207 - 23 B92739
23B027E0 - 2843131
28413 - 360353
33169063 - 37 908415

10 =

s W @ @

[

[Reverse New values |

p—

|

o

El

Output raster
0"' CiSpatial Analyst|Scratch.gdbiRecass_Siopl

[[] Change mizsing values 1o NoD ata (optional]

o-—-l ok J[_cencet | [ ety | [showren>> |

10. Rename the output variable from the Reclassify tool to Reclassed slope.
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The school should be located as close as possible to a recreational facility. You will reclassify the distance
to recreation sites output, assigning the number 10 to ranges of values that represent areas closest to
recreation sites (the most suitable locations), assigning the number 1 to ranges of values that represent
areas far from recreation sites (the least suitable locations), and ranking the values linearly in between.

Steps:

1. Open the Reclassify tool connected to the Distance to recreation sites variable.

Accept the default for the Reclass field parameter so the value field will be used.
Click Classify.
Set the Method to Equal Interval and the number of Classes to 10.

Click OK.

o o M 0 DN

Click Reverse New Values.
Clicking Reverse New Values makes it so that distances close to recreational facilities
receive a higher new value, since these areas are more desirable.

7. Accept the default path and name for the Output raster parameter.

8. Click OK.
“. Reclassify (2)
Input raster
| Ciskance ko recreation sites LI
PReclass fiskd
e — Walue w
Redassfication
Old values New valiles A
01351 266113 10 Classify.., | ===
1351 266113 - 2702 53222 a
2TOZS32227 - 4053 79634 i}
405379834 - 5405 064453 T
5405.064453 - 6756.33055 ] -,qdd Eckes
5755.330566 - §107 50858 5
107 59660 - 9458 862793 4
3

| 9458.562793 - 10810.1 289

|Re~erseNew\raI|.es| |Premnn... |

COutput raster 1 o

=8| C:\Spatial AnalystiScratch.gdbifeclass_EuchE

[ ok I [ Cancel | [ Apply l Shew Help 3=

] Change miszing values 1o NoData [optional)

9. Rename the output variable from the Reclassify (2) tool to Reclassed distance to

recreation sites.

W Tip: To resize the output variable element, Reclassed distance to
recreation sites, click the element and move the mouse pointer
over one of the blue handles surrounding the element, then click
and drag to resize the element so all text can be seen.
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It is necessary to locate the new school away from existing schools to avoid encroaching on their
catchment areas. You will reclassify the Distance to schools layer, assigning a value of 10 to areas
farthest from existing schools (the most suitable locations), assigning a value of 1 to areas near existing
schools (the least suitable locations), and ranking the values in between linearly. By doing this, you will
determine which areas are near and which areas are far from existing schools.

Steps:
1.

8.

2
3
4.
5

Open Reclassify (3) tool.

Accept the default for the Reclass field parameter so the value field will be used.
Click Classify.

Set the Method to Equal Interval and the number of Classes to 10.

Click OK.

You want to position the school away from existing schools, so you will assign larger
numbers to ranges of values that represent locations farther away, because these locations
are most desirable. Since the default assigns high New values (more suitable locations) to
higher ranges of Old values (locations farther away from existing schools), you do not need
to change any values at this time.

Accept the default for the Output raster parameter.

Click OK.
“. Reclassify (3)
Input raster
|Dlstar|l:c b schaalks j
Reclass field
e— | Vi v
Redassification
Old values Mew vallies Lal
0- 1694.721289 1 Classiby. . [
1694721 209 - X309 44257 2
3369442576 - 508416386 3
S0E4, 183867 - ETTEH 8515 4
6778 8B5156 - 847360644 5 -,qdd Eckes
G472 605445 - 1NEBE.ZZFT E
10168327734 - 11863099 7 -
| 11963 049023 - 13557 770 ] .
|Re~erse New Valuss | | Preciion. .. |
Oustput raster
o— =8 C\Spatial Analyst\Scratch.gdbiReclzss EucDl
[ Change mizsing values 1o NoData foptional)
o. [ ok J[ comel [ eeely [ show Help 22

Rename the output variable from the Reclassify (3) tool to Reclassed distance to schools.

Copyright © 1995-2010 Esri. All rights reserved.
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Executing Reclassify

Steps:

1. Right-click each of the variable outputs— Reclassed slope, Reclassed distance to recreation
sites and Reclassed distance to schools —and click Add To Display.

2. Click the Run button to execute the three Reclassify tools in your model.
3. On the toolbar, click the Save button .
4. Examine the layers added to your ArcMap display.

' . =
.
—H
‘ L o =‘9°

Reclassified slope Reclassified distance to recreation Reclassified distance to schools Legend
sites

Locations with higher values (with low gradient slopes, close to recreation sites, and away
from existing schools) are more suitable than locations with lower values (with steeper
slopes, far from recreation, and close to existing schools ).

Weighting and combining datasets

You are now ready to combine the reclassified datasets and land use to find the most suitable locations. The
values of the reclassified datasets representing slope, distance to recreation sites, and distance to schools
have all been reclassified to a common measurement scale (more suitable cells have higher values). The
landuse dataset is still in its original form because you can weight the cell values for this dataset as part of
the weighted overlay process. Values representing areas of water and wetlands will be restricted. You'll also
mark slope values that are less than 4 (the least suitable because they are too steep) as restricted so these
values can be excluded. If all datasets were equally important, you could simply combine them, giving each
equal influence; however, you have been informed that it is preferable to locate the new school close to
recreational facilities and away from other schools. You will weight all the inputs, assigning each a
percentage of influence. The higher the percentage, the more influence a particular input will have in the
suitability model.

You will assign the inputs the following percentages of influence:

Reclassed distance to rec_sites: 50%
Reclassed distance to schools: 25%
Reclassed slope: 13%

landuse: 12%

This section of your model will look like the following:
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Steps:

1. Click and drag the Weighted Overlay tool, located in the Spatial Analyst toolbox Overlay
toolset, into ModelBuilder.

Copyright © 1995-2010 Esri. All rights reserved.
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Steps:
1. Open the Weighted Overlay tool.

2. Type 1,10, and 1 inthe From, To, and By text boxes.
The default evaluation scale is from 1 to 9 by 1. A scale of 1 to 10 was used when
reclassifying datasets, so before adding input rasters to the Weighted Overlay tool, you want
to set the evaluation scale from 1 to 10 by 1. This means you will avoid having to update the
scale values after adding your input datasets.

3. Click Apply.
Evaluztion scale From l To l By l
1t 9 by L ¥ 1 10 1

]

=03 || Cancel | Apply ' |ShmHab;>
]

4. Add the Reclassed slope to the Weighted Overlay tool.
a. Click the Add raster row button .

b. For the input raster, select Reclassed slope from the drop-down list and leave the
input field as value.

c. Click OK.

, ©

# Rdd Weighted Overlay Layer =1 < £
Inpist raster -]

| 2eclassed slope | ﬂ
»

Tnput Fisld
alos
w

W[ Cancel J [ Show Help > J

Bl | [+

The raster is added to the Weighted Overlay Table. The Field column displays the values
of the Reclassed slope data. The Scale Value column mimics the Field column because the
Evaluation scale was set to encompass the range of values in each input raster. You could
modify the Scale Values for each class at this point, but for this input, the values were
already weighted appropriately at the time of reclassifying.

5. Repeat the previous step for each of the reclassified datasets including Reclassed distance
to recreation sites and Reclassed distance to schools.

6. For the Reclassed slope input, in the Scale Value column, click the cell with a value of 1.

Copyright © 1995-2010 Esri. All rights reserved.
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7. Click the drop-down arrow, scroll, then click Restricted.

# Reclassed shoe 100 Value ES o
1
] T ”~

]
]

10
Restricted
NODATA 2

8
9

10 10
MODATA ] NODATA,

o | o | =i | o | | e [ [

You know you don't want to build on slopes greater than about 33 percent, even if all other
conditions are ideal. You'll make values from 1 to 3 restricted, since these values represent
slopes from 33.431043 to 47.758633 (the maximum slope).

ol Dive-in: Setting a Scale Value to Restricted assigns a value to that cell
in the output weighted overlay result that is the minimum value
of the evaluation scale set minus 1 (zero in this exercise). If
there are no inputs to the Weighted Overlay tool with cells of
NoData, you could use NoData as the scale value to exclude
certain values. However, if you have NoData cells in any of your
inputs, it is safest to use Restricted. Potentially, a result from
the Weighted Overlay tool could contain cells of NoData that
have come from one or more of the inputs (NoData on any input
equals NoData in the result) and restricted areas that you
intentionally excluded. NoData and Restricted values should not
be confused. Each serves a specific purpose. There may be
areas of NoData for which you don't know the value but that are
actually suitable areas. If you use NoData to exclude certain cell
values and there is NoData in one or more inputs, you will not
know whether a cell of NoData means the area is restricted from
use or there was no input data available in that location.

8. Set Scale Values of 2 and 3 to Restricted.

9. Add the landuse layer, this time setting the Input field to Landuse. Click OK.
You'll now weight the scale values of the landuse layer so they are comparable with the
other inputs. A lower value indicates that a particular land-use type is less suitable for
building. The scale values for Water and Wetlands will be set as Restricted, since they
cannot be built on and should be excluded.

10. Change the default Scale Values for the landuse layer to the following values:
» Brush/transitional—5

* Barren land—10
* Built up—3
* Agriculture—9

Copyright © 1995-2010 Esri. All rights reserved.
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» Forest—4
11. Set the Scale Values representing Water and Wetlands to Restricted.

12. Collapse each raster in the Weighted overlay table.

£ landuse 0 LANDUSE L J
Brushiransitional 5
Water Restricted
Barren land 10
Built up 3 Q
Agricufure a S—
Forest 4
Wetlands ¥ Resfricted

- NODATA E NODATA

You'll now assign a percentage of influence to each raster, based on how much importance
(or weight) each should have in the final suitability map.

13. In the % Influence column, type the percentages for each of the input rasters:
* Reclassed distance to schools to 25

* Reclassed distance to recreation sites to 50
* Reclassed slope to 13

¢ Jlanduseto 12

Raster 4 Influence Flald Scale Vaue
¥ FReclassed slope 13 Value

= distanc 25 Yalue
¥ Reclaszed dislanc 50 Value
¥ landuse 12 LANDUSE

W Tip: Move the mouse pointer over the name of an input raster to
view the entire name.

14. Accept the default for the Output raster parameter.

15. Click OK.

Copyright © 1995-2010 Esri. All rights reserved.
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Executing Weighted Overlay

Steps:
1.
2.

Click the Auto Layout button , then click the Full View button .

Rename the output variable from the Weighted Overlay tool to Suitable Areas and click
OK.

Right-click the Suitable Areas variable and click Add To Display.
Run the Weighted Overlay tool.
On the toolbar, click the Save button .

Examine the layer added to your ArcMap display. Locations with higher values indicate more suitable
sites—areas that are on less steep slopes of suitable land-use types, closer to recreational facilities,
and away from existing schools. Notice that the areas you marked as restricted have a value of zero.

Suitable Areas map

Selecting optimal sites

On your layer, each pixel has a value that indicates how suitable that location is for a new school. Pixels
with the value of 9 are most suitable, and pixels with the value of 0 are not suitable. Therefore, the optimal
site location for a new school has the value of 9. Another criteria for an optimal location is the size of the
suitable area. A suitable location would include several pixels with value of 9 being connected.

This section of your model will look like the following:

'r.
"‘ ‘ F.M]_.
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You will use a conditional expression in the Con tool to extract only the optimal sites. It has been decided
that those sites that are considered optimal must have a suitability value of 9 (the highest value in the
suit_areas output). In the conditional expression, all areas with a value of 9 will retain their original value
(9). Areas with a value of less than 9 will be changed to NoData.

Steps:
1.
2.
3.

9.
10.
1.
12.

Click and drag the Con tool, located in the Conditional toolset, into ModelBuilder.
Open the Con tool.

Click the Input Conditional Raster value drop-down arrow and click the Suitable Areas
variable.

Type the condition value = 9 for the value of the Expression parameter.
Click the Input true raster or constant value drop-down arrow and click the Suitable Areas
variable.

If the condition you enter is true, then the value of the cells of the Input true raster or
constant value will be applied to the cells of the output raster.

Leave the value for the Input false raster or constant value parameter blank.

Leaving the Input false raster or constant value parameter blank will apply the default.
The default is that if any value in the Input conditional raster that doesn't meet the
condition you enter will be assigned NoData in the output raster.

Accept the default for the Output raster parameter.
Click OK.

#. Con ﬁ

Input condtional rasker
e_ g | SLiabe Areas -

Expression (optional)

e =1
rove = —I °

Input brue raster or constant value

e— s | Sutable Areas =
Input False raster or constant value (optional)

g
Output raster
CiiSpatial AnalystiScratch.gdblCon_Weighte_1 E
¢ >
[ ok J[ cawel [ asely [ show Help 2

Click the Auto Layout button , then click the Full View button .
Rename the output variable from the Con tool to Optimal areas and click OK.
Right-click Optimal areas and click Add To Display.

Run the Con tool.

Examine the layer added to your ArcMap display. These are the optimal site locations for the new
school. There are many single cells representing optimal locations. These 30-meter cells are too small
for the school site. You'll clean up the result, removing these small areas, using the Majority Filter tool.

Copyright © 1995-2010 Esri. All rights reserved.
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Steps:

o w0 BN

8.
9.
10.

Click the Majority Filter tool, located in the Spatial Analyst Tools toolbox Generalization
toolset, and add it to ModelBuilder.

Open the Majority Filter tool .
Click the Input raster drop-down arrow and click the Optimal areas raster variable.
Accept the default Output raster parameter.

Click the Number of neighbors to use drop-down arrow and click EIGHT.

This option specifies the number of neighboring cells to use in the kernel of the filter. The
kernel of the filter will be the eight nearest neighbors (a 3-by-3 cell window) to the present
cell.

Accept the default to use the MAJORITY as the Replacement threshold.
Using MAJORITY as the Replacement threshold means five out of eight connected cells
must have the same value for the present cell to retain its value.

Click OK.
“. Majority Filter E:i
Input raster
e_ s | DUt optimal areas raster |
Output raster
C:ASpatisl AnalystiScrateh.gdbiMajorit_Con_t
Nurnbier of neighbors bo use (optional)
& =g | EIGHT -
Reeplacement threshold (optional)
MAIORITY "
< >
[ ok ][ cael | nsmly [ Show Help »>

Rename the output variable from the Majority Filter tool to Filtered optimal areas.
Right-click the Filtered optimal areas and click Add To Display.
Run the Majority Filter tool.

Examine the layer added to your ArcMap display. Compare Filtered optimal areas and Optimal areas.
Many optimal areas that were considered too small in area have been removed.

|_. Note: If you want to remove areas of multiple cells, use the Nibble tool also

located in the generalization toolset.
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Map of optimal areas output from Map of optimal areas output from
the Con tool Majority Filter tool

Selecting the best site

You have discovered the optimal sites for building the new school. All the locations in the Filtered optimal
areas layer are suitable. The last step in this exercise is to locate the best site out of the alternatives. The
roads layer displays the roads within the town of Stowe. By examining the Filtered optimal areas layer with
the roads layer, you'll see that there are some suitable areas for the school site that are not close to roads
within the town. You'll first exclude these areas by locating suitable sites that are intersected by roads. Then
you'll locate the best site based on area. An optimal school site is larger than 10 acres, or 40,469 square
meters.

Youl'll first convert the Filtered optimal areas raster to a feature class inside a geodatabase so you can use
the area field that is generated. You'll use the Select Layer By Location tool to select features that are
intersected by roads. Then you'll use the Select Layer By Attribute tool to identify the optimal site from the
alternatives, based on area. Finally, you'll create a new feature class from the selection that you'll use in the
next exercise.
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Raster to Polygon

Steps:

1.

Open the Raster To Polygon tool in the Conversion Tools toolbox, inside the From Raster
toolset.

Click the Input raster drop-down arrow and click the Filtered optimal areas raster
layer.

Leave the default for the Field parameter as VALUE.

Accept the default Output polygon features parameter path, but change the name to
opt area.

Leave the default checked to Simplify polygons. The polygons will be simplified to reduce
the stair-step effect when a raster is converted to a polygon.

Click OK.

. Raster to Polygon o3
Input raster

=% |Fitered optimal aress =l ﬂ
Fizld {optional) S
Walue e e
Oukput polygon Features

le | CiiSpatial AnalystiScratch.qdblopt_areal Q

Simplity palygons (opbianal)

<] »

e_' [ o | [ Carcel ] [Envirunrrlents... ] [ Show Help >
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Select By Location

Steps:

1. Leave the landuse, elevation, hillshd, destination, roads, rec_sites, schools, Slope Output,
and opt_area layers in the table of contents. In the table of contents, right-click the layers to
be removed, then click Remove. Press and hold the SHIFT key to select multiple layers.
Your ArcMap table of contents display should resemble the graphic below.

Tabls Of Cortents L

= B rec_shes
L]
= destination
L
= B roads
= landuse
LANDLISE
[ Agricuture
[ Barren land
[Tl erushfteznsitiona
I Buil: up
[ Forest
W iater
[ wetlands
B Hitsha_elevz.
O elevation
O Slope Cutpist:

3 p— &

A

2. Open the Select Layer By Location tool in the Data Management toolbox, Layers and Table
Views toolset.

3. For the Input Feature Layer, select opt_area from the drop-down list.
4. For the Relationship parameter, accept the default, which is INTERSECT.
5. Click the Selecting Features drop-down arrow and click the Roads layer.
6. Accept the default for the Selection type parameter, which is NEW_SELECTION.
7. Click OK.
¥ Select Layer By Location \,_]L;_Eﬁ
Input Feature Layer
°— o [opt _area =~ ﬂ
Relat (optional)
INTERSECT ﬂ-—-°
Sedecting Features {optional
°— =21 Iruads ;I @
Search Distance (optional)
| | Meters _vl
R Q@
i] m [L]

°-.1 o) [ come_ [mronmentsns ) [Shonrebos )

All features that intersect roads are selected in the display.

Copyright © 1995-2010 Esri. All rights reserved. 44



Spatial Analyst Tutorial

Select Layer By Attribute

Steps:

1. Open the Select Layer By Attribute tool in the Data Management toolbox, Layers and Table
Views toolset.

2. Forthe Layer Name of Table View, select opt_area from the drop-down list.
3. For the Selection type parameter, choose SUBSET_SELECTION.
4. Click the query builder button.

“_ Select Layer By Attribute (=

Layer Name or Table View
°- N | opees ll JE
Sedection type (optional) - -
SUBSET_SELECTION w

E:xpression (optional)

“Shape_fres” »=10469 ! _o
-

<] >

[ QK ] [ Cancel ] [Envimnments... ] [ Show Help == ]

5. Double-click shape Area in the list of fields to enter the field into the expression text box.
6. Click the greater than or equal to button .
7. Type 40469.
8. Click OK, then click Close.
Query Builder @E
“OBJECTID” =
o
“gnd_code"
“Shaps_Length’
e——- "Shape_Area"
(]
0 ==
L
(] GoTo
“Shape_Mtea” »=40463 '—°
[ cear | [ ey |[ Help | [ Load. || Save. |

There is one feature that fits the criteria of being equal to or greater than 10 acres (40,469
square meters).
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Copy Features Tool

Steps:
1.
2.
3.

6.

Open the Copy Features tool in the Data Management toolbox, Features toolset.
Click the Input Features drop-down arrow and click the opt_area layer.

Click the Browse button next to the Output Feature Class parameter and navigate to

C:\Spatial Analyst\Stowe.gdb. This stores your final result in your Stowe.gdb instead of your
Scratch.gdb.

Type final site for the name of the output feature class and click Save.
Click OK to run the tool.
. Copy Features =]

Input Features

Qr:: s
Output Feature Cless
Ci\Spatial AnalystiStawe gdblfinel_ste @ = 'o
w

Configuration Keyword {optional
Output Spatial Grid 1 {optional)
0
Output Spatial érid 2 {optional)
0

Cutput Spatial Grid 3 (optional)
]

(3 I (2

°..[ o) [ conel ] [Evwonmentsn] [Shomrich o> )

Right-click opt_area in the table of contents and click Remove.

The final_site layer displays the location of the optimal site for the new school.

Optimal site
for the new
school

7. On the Standard toolbar, click the Save button [g.

Summary

You have now completed exercise 3. You can proceed to exercise 4, or you can stop and continue later.
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Exercise 4: Finding an alternate access route

In this exercise, you'll find the best route for a new access road from the Complexity:

optimal school location site to a nearby road intersection. The steps you

Beginner
Data Requirement:

might follow to produce such a path are outlined below. (ARG T i i SR

Create the source dataset if necessary. The source is the school site
(the final_site feature class) you created in exercise 3.

Create the cost dataset by deciding which datasets are required, reclassifying them to a common
measurement scale, weighting them, then combining them.

Perform cost distance analysis using the source and cost datasets as inputs. The distance dataset
created from this tool is a raster in which the value of each cell is the accumulated cost of traveling
from each cell back to the source.

To find the least costly path, you need a direction dataset, which can be created as an additional
dataset using the Cost Distance tool. This gives you a raster of the direction of the least costly path
from each cell back to the source (in this exercise, the school site).

Create the destination dataset if necessary. In this exercise, the destination dataset is a point at a road
junction.

Perform cost path analysis using the distance and direction datasets created with the Cost Distance
tool.

This exercise will take approximately 30 minutes to complete. Start this exercise with your Site Analysis map
document created in the previous exercise open.

You'll create a new model, Find Best Route, inside your Site Analysis Tools toolbox. This model will
calculate the best path through the landscape from the source (the school site) to the destination point,
taking into consideration the slope of the land and the type of land use the path will cross.

Steps:
1. Right-click the Site Analysis Tools toolbox and click New > Model.
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Renaming the model

Steps:

1. On the main menu, click Model > Model Properties.

|- Note: The model properties and environments will be set as they were
in the previous exercise.

2. Click the General tab and type FindRoute in the Name text box.
3. Type Find Best Route in the Label text box.

4. Check Store relative path names (instead of absolute paths).

e

f Model Properties [i]ﬁ

General | Paimeters | Environments | Help | Iberation

Mame:

g | FiriciRio0LE

Label:

met | Finud Beest Route

LA

Desoription:
Styleshest:
=]
e——l [] Stare relative path names (nstead of sbsokste paths)
[ ok | ceeel |[ ey |
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Specifying environment settings

Steps:
1. Click the Environments tab.
2. Expand Processing Extent and check Extent.
3. Expand Raster Analysis and check Cell Size.
4. Click Values.

Model Properties e 7
-
Generdl | Patametess| Envicoments | Help | letation

Select the ervironment settings that you woud like to oveside.

%[ | Geodatabase -
+[] Geodatzhase Advanced

# [ Geostatistical Analysis

3 [ M Vauss

% || Dutput Coondinates

=[] Processing Extent
W Extent J
[] Snap Raster
=[] Random Numbers
=[] Raster Analpsis
v geigs e
] Mazk

FAazter Storage:
Teran Datazet «

4 T

ok J[ concel J[ ceoh ]

5. Expand Processing Extent. Set the Extent by clicking the drop-down arrow and selecting
Same as Layer elevation.

6. Expand Raster Analysis. Set the Cell Size by clicking the drop-down arrow and selecting
Same as Layer elevation.

7. Click OK on the Environment Settings window.

- —
@ Environment Settings
|
£ Processing Extent
Exbent
Same as layer elevation l‘ltg
Tap _e
231352.353397
Left Right
471060.082572 494700,082572
Bottom
208312.353397
£ Raster Analysis
Cell Size J
Same as layer elevation v|q &
EoQ
[ o ” Cancel ][shmheb» ]

®

Click OK on the Model Properties window.
9. On the toolbar, click the Save button .
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Creating the cost dataset

You created the source dataset, final_site, and a slope dataset, Slope Output, in the previous exercise.
You'll create the cost dataset that will identify the cost of traveling over the landscape from any location back
to the proposed new school site, based on the fact that it is costlier to traverse steep slopes and construct a
road on certain land-use types.

This section of your model will look like the following:

Setting up the model

Steps:
1.
2.
3.

Add Slope Output to your model.
Locate the Reclassify tool and add it to ModelBuilder in line with Slope Output.

Click the Add Connection tool . Use the connect tool to connect Slope Output to the
Reclassify tool.

Click the Select tool on the model toolbar.
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Reclassifying slope

It is preferable that the new road traverses less steep slopes. You will reclassify the Slope Output layer,
slicing the values into equal intervals. You'll assign a value of 10 to the most costly slopes (those with the
steepest angle of slope) and 1 to the least costly slopes (those with the least angle of slope) and rank the
values in between linearly.

Steps:
1. Open the Slope Output tool.
2. Accept the default for the Reclass field parameter so the Value field will be used.

3. Click Classify.

“ Reclassify

Input raster

| Flope Output =
Reclass field
= Yalue v
0_ Redassiication
Old values New values -~
0- 3933054 1 El
M g |l

4. Click the Method drop-down arrow and click Equal Interval.

5. Click the Classes drop-down arrow and click 10.
You want to avoid steep slopes when constructing the road, so steep slopes should be
assigned higher values in the cost dataset. Because the default assigns higher values to
steeper slopes, you do not need to change the default New values.

6. Click OK.
Classification E]ﬁ
Classfication 1 Classification Statistics
Methesd: Equal Interval bl Counk: 604761
Finimum; i}
Ee il ° 2 Masdmum: 47385618
Ty Sum 6335381 ,865383
Mean; 10.475644
[ Exduson... | [ samgiing... | Standard Devistion: 6,967564
Colimns: 0 5 [ show Std, Dev, [C] Show Mean
= @ = & = 2 n = ® Break Yales
25000 % = 2 = Fe o =] = Z o
| g & 8 4.738552
Bl & A & & & 2 Z pagiet
- pu] - o = & =1 ~ & [ J
ol I I L I 1421565
20000 18.954207
23892759
8431311
15000 33,169663
37508415
42 BABIET
100004 47385518
A0004
<] 3
1] 11.84628 23692759 35539134 47.385518 “

7. Accept the default for the Output raster parameter.
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8. Click OK.
9. Rename the output variable from the Reclassify tool to Reclassed slope.

10. Right-click the Reclassify tool and click Run.
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You will now combine the Reclassed slope and landuse datasets to produce a dataset of the cost of
building a road through each location in the landscape, in terms of steepness of slope and land-use type.
In this model, each dataset has equal weight.

Steps:

1.
2.

7.

Locate the Weighted Overlay tool and add it to ModelBuilder in line with Reclassed slope.

Open the Weighted Overlay tool.

The default evaluation scale is from 1 to 9 by 1. As in exercise 3, a scale of 1 to 10 was
used when reclassifying the slope dataset, so before adding input rasters to the tool, you'l
set the evaluation scale from 1 to 10 by 1. This means you will avoid having to update the
scale values after adding your input slope dataset.

Type 1, 10, and 1 in the From, To, and By text boxes.

Click Apply.
Evaluztion scale Fram l To l Erv l
1 te 9 by 1 b4 1 ] 1

w

|_ =73 J| Cancal | Apply I |ShmHeb.‘>>
]

Click the Add raster row button . For the Input raster, select Reclassed slope variable from
the drop-down list and leave the Input field as Value. Click OK.

Click the Add raster row button . This time, add the landuse layer. Set the Input field to
Landuse and click OK.

You'll weight the scale values of the landuse layer so they are comparable with your
Reclassed slope dataset. A higher value indicates that it is costlier to build a road through a
particular land-use type.

Type the following Scale Values:
* Brush/transitional—5

*+ Water—10

« Barren land—2
* Built up—9

« Agriculture—14
+ Forest—s3

e Wetlands—10

/iy, Caution: Be cautious when using Restricted for the scale value when
creating a cost surface. Using Restricted assigns a value to the
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8. You will now assign an equal percentage of influence to each raster, since they are both
equally important in this analysis. Click Set Equal Influence to assign an equal percentage
of influence (50 percent each) to each input raster.

9. Accept the default for the Output Raster.

10. Click OK.
’ MUOATA | NODA.
50
Brushitransitional 5 =
Wiraber 10 b |
Barren land 2
Builtup E °
Agricuthure 4
Forest 8 EI
Vetlands 10 =
NODATA NODATA v &
Sum of influence N | Set Equal Influence -]——e
Evaluation scaks From To By ;
1t 10 by 1 [v]
Cukput raster
Ci\Spatial Analyst|Scratch.gdbiweighte_Recl -—E——e
q—ﬁ-ox ) Ccanesl) [_osly__] [Showrebs> )

Executing Weighted Overlay

Steps:
1. Click the Auto Layout button , then click the Full View button .

2. Rename the output variable from the Weighted Overlay tool to Cost surface and click
OK.

3. Right-click the Cost surface variable and click Add To Display.
4. Run the Weighted Overlay tool.
5. On the toolbar, click the Save button [g.

Examine the layer added to your ArcMap display. Locations with low values indicate areas that will be
the least costly to build a road through.

W [ ] final_site

® destination

Cost-surface map
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To find the least costly path between the site for the new school, identified in exercise 3, and the destination
site, the Cost Distance tool and the Cost Path tool will be used. There are two outputs from the Cost
Distance tool. The Output distance raster shows the accumulated cost of traveling from any location (or
cell) to the source (the school site). It does not contain information on which way to travel from a particular
cell to the source, just how much it will cost to get there following the least costly path. The Output backlink
raster shows which way to travel from any cell, following the least costly path back to the source. Using
these outputs as inputs to the Cost Path tool, along with input destination data, you will calculate the least
cost path between the site for a new school and the destination site.
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Setting up the model

Steps:

1.
2.

Add the final_site and the destination layers to ModelBuilder.

Add Cost Distance tool and the Cost Path to ModelBuilder.
Both the Cost Distance and the Cost Path tools are located in the Spatial Analyst Tools
toolbox in the Distance toolset.

Use the Add Connection tool to connect final_site and Cost surface to the Cost Distance
tool.

Rename the Output distance raster variable to Output cost distance and rename the
Output backlink raster variable to Output cost backlink.

Use the Add Connection tool to connect destination, Output cost distance, and Output cost
backlink to the Cost Path tool.

Rename Output raster to Output cost path.

On the model toolbar, click the Select tool , the Auto Layout button , and the Full View

button .

Dutput cost
path
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You will now run the Cost Distance tool using the cost dataset you just created (which identifies the cost
of traveling through each cell) and the final_site layer (the source) you created in exercise 3. The outputs
from this tool are a distance dataset in which each cell contains a value representing the accumulated
least cost of traveling from that cell to the source and a backlink dataset that gives the direction of the
least costly path from each cell back to the source.

Steps:

1. Open the Cost Distance tool.

2. Confirm that the Input raster or feature source data is the final_site layer and that the
Input cost raster is Cost surface variable.

3. Accept the defaults for the Output distance raster and the Maximum distance.

4. Type cost bklink for the name of the Output backlink raster.
By default, the path to the scratch workspace (C:\Spatial Analyst\Scratch.gdb) will
automatically be appended in front of the dataset name you just entered for the Output
backlink raster.

5. Click OK.

92 2

“. Cost Distance
Input raster or feature source data

=0 [ final_ste = e
Inpuk cost rasher

= |Ccut surface j
CGutput distance raster

=8 Cr\Zpatial AnalystiScratch.gdbCostDis_final
Maccimun distance (optional)

puil
Output backink raster (optional)

e | cos_blink

[ ok [ canca |[  sppy | [ showrep>> |
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The Cost Distance tool outputs a distance raster and a backlink raster, each of which are used in the Cost
Path tool. The destination layer was provided, and the layer is the starting point for the new road to
the school site.

Steps:

1. Hover over the Cost Path tool to verify that the parameters have the correct input datasets.
* Input raster or feature destination data is set to the destination layer.

* Input cost distance raster is set to the Output cost distance variable.
* Input cost backlink raster is set to the Output cost backlink variable.

2. Accept the default for the Output raster, the Path type, and the Destination field
parameters.
When the input feature destination data is processed, it will be converted temporarily to a
raster as part of the processing. There will only be one cell in this raster, because there is
only one destination point. The value for the Path type parameter can be left as
EACH_CELL. Only one path will be created, since there is only one cell.

-
Irput raster or festure destination data:
destination

Trgut cost distance raster:
Output cost distance

Input cost backink raster:
Output Cost Backink.

Output raster:
Output Cost Path

Fath bype:
EACH_CELL

Destinzkion fiekd:

Cost P, Path

Steps:

1. Right-click the Output cost distance, Output cost backlink, and Output cost path variables
and click Add To Display.

2. Run the Find Best Route model.

Examine the layers added to your ArcMap display. The Output cost path layer represents the least
costly path from the school site to the destination point. It avoids steep slopes and certain land-use
types that are considered costlier for constructing the road.
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As a last step in your model, you'll convert the raster path to a polyline for display.

Steps:

1.

o g &

N

Remove the created layers Slope output, Reclassed slope, Cost surface, Output cost
distance, and Output cost backlink so you can see the path displayed over the landuse and
hillshd layers.

Add the Raster To Polyline tool to ModelBuilder.
The Raster To Polyline tool is in the Conversion Tools toolbox in the From Raster toolset.

Open the Raster To Polyline tool.
Click the Input raster drop-down arrow and select the Output cost path variable.
Leave the Field parameter as VALUE.

Click the Browse button next to the Output polyline features parameter and navigate to
your Stowe file geodatabase C:\Spatial Analyst\Stowe.gdb.

Type new_route for the Name of the feature class and click Save.

Accept the defaults for all other parameters and click OK.

“ Raster to Polyline ﬁ
Ta|
Inpit raster
| Futput cost path = ':I
Field {optional)
YALLIE ~
Cutput polyiine features
C:\Spatial Analyst|Stowe gdbinew_route i —o
Background wakse {optonal)
ZERO ~

Iinimum dangle length (optional)
o

[#] Similify pabires (optional)

[ O, | [ Cancel [ Apply [ Shiws Help >3
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Run Raster to Polyline

Steps:
1.

2
3.
4

Click the Auto Layout button , then click the Full View button .
Rename the new_route output variable to Output route.
Right-click the Output route variable and click Add To Display.

Run the Raster To Polyline tool.

Examine the new_route layer that is added to your ArcMap display. The raster path has been converted
to a polyline.

Map with the polyline representing the new route

You can easily change parameter values to experiment with different outcomes and rerun the model.
Only the processes in the model that are dependent on the output of the altered process will need to be
rerun. For example, lowering the weight applied to cell values where the landuse is Built up from 9 to
1 will alter the potential path for the new road considerably—it will tend to follow existing roads where it
can, which may be a less costly option to consider.

Saving the map document

You have set relative paths for both models created in this tutorial, so if the toolbox containing the models
and the data is moved (keeping the same structure between them) to a new location on disk, the paths to
the data sources will be set relative to the position of the toolbox. By default, your map document is set to
store relative path names to data sources.

Steps:
1.

On the toolbar, click the Save button &.

2. Click File > Exit.

Summary

This brings you to the end of this tutorial. You have been introduced to some of the tools available with Spatial
Analyst, both through the Spatial Analyst toolbar and the Spatial Analyst Tools toolbox. You've learned how to
build models that are reusable and can be shared with others. In particular, you've learned how to create a
suitability map, and you've learned how to calculate the least costly path across a landscape. The sequences
of steps involved can be applied to many different applications.
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